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' (A) By calculating the roots of the

(B) By ﬁndmg the number of sign

| (C) By determining 1fa11 rootm

Which synthetic resin, when
obtained from chlorinated styrene
polymerisation, possesses higher
heat resistance ?

(A) Polyethylene EE
Polyvinyl chloride s 17
=) E]Q‘é%

(C) Polystyrene
(D) Polytetrafluorethylene
(E) Not attempted

Which of the following cables is -
not affected by electromagnetic
disturbances ?

(A) Unshielded Twisted Pair Cable
(B) Shielded Twisted Pair Cable
(C) Coaxial Cable

(D) Fiber Optic Cable

(E) Not attempted

Which is the largest Indian site of
Indus Valley Civilization ?

(A) Lothal (B) Dholavira

(C) Banawali (D) Rakhigarhi

(E) Not attempted

Which of the following transducers

convert mechanical energy into

electric energy ? '

(A) Thermistor

(B) Thermoelectric transducer

(C) Linear variable differential
transducer

(D) Piezoelectric transducer

(E) Not attempted

How does the Routh Array Method
assist in determining the stability of a
control system ?

characteristic equation directly

changes in the first column of the
Routh table :

the left half of the ‘s’ plane - |
(D) By simplifying the charactenstlc d
polynomial :
(E) Not attempted
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- of the modulated signal from the

247

.(C) Residual volume

In a full adder with inputs A, B and C,

which of the following is an expr ession
of carry out ?

(A) A®B®C

(C) ABC

(E) Not attempted

(B) AB+BC+AC
(D) A+B+C

Which of the following is the State
animal of Haryana ? EE

(A) Asiatic Lion &
(B) Asiatic Elephant

(C) Black Buck

(D) None of the above
(E) Not attempted

1-14

What defines an open-loop control

system ?

(A) The output is fed back to the input.

(B) The control action is dependent
on the desired output.:

(C) The output is adjusted
automatically.

(D) The control action is' mdependent
of the desired output. :

(E) Not attempted

Volume of air remaining in the lungs
even after a forcible exp;r_atmn_ is

(A) Vital capac1ty .

(B) Functional re31dua1 capamty

(D) Total lung capac1ty
(E) Not attempted

is the variation of the frequency

frequency of the carrier mgnal :
(a) Frequcncy modulation’ !

(B) Frequency demodulatlon) ]
(C) Frequency deviation’'s i
(D) None of the above . .»'{:"

(E) Not attempted 7
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11.

12,

13.

14.

e

The attribute chosen by the databage
designer to uniquely identify the tuples
in a relation is called the of
that relation.

(A) Primary key

(B) Candidate key
(C) Foreign key

(D) None of the above
(E) Not attempted

EE
Sk

What component provides a stable
reference frequency in a digital
counter/timer instrument ?

(A) Pulse shaper circuit

(B) Voltage-controlled circuit
(C) Oscillator

(D) Phase-sensitive detector

(E) Not attempted

How does the overall gain of a negative
feedback closed-loop control system
change based on the value of (1+GH)?

(A) Always increases

(B) Always decreases

(C) May increasé or decrease
depending on (1+GH)

(D) Remains constant A

(E) Not attempted

What percentage of State subsidy
is provided for solar water pumping
systems to farmers in Haryana ?

(A) 65%

(B) 70%;‘,*“'":-»_ |
(C) 75%: " "

(D) 80%:;.:_. A
(E) Not attcmpted
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(B) 70%
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(D) 80%
(E) 3TorRNRd
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16.

17.

18.

19.

e

What is the primary function

of the wavelength selector in &

spectrophotometer ?

(A) To produce radiation

(B) To convert radiation into
electrical energy

(C) To limit the radiation absorbed
by the sample to specific
wavelengths

(D) To amplify the intensity of the
radiation

(E) Not attempted

In the electrochemical detector setup,
which electrode is responsible for
oxidizing or reducing the elute ?

(A) Working electrode .- :° . o
(B) Auxiliary electrode %
=] <’

(C) Reference electro'de.
(D) Conductivity electrode
(E) Not attempted

Python does not have a character data
type. String of length ; is
considered as character.

(A) O (B) 1

(©) 2 (D) 3

(E) Not attempted =

The output Y of a 2-bit comparator
is logic 1 whenever the 2-bit input A
is greater than the 2-bit input B. The
number of combmatlons for which the
output is logic 1, is

Aa) 4 (B):6- -

(C) 8 . (D) 10

(E) ‘Not attempted :

Forwhat purpose is Bakehte commonly
used ?

~(A). ngh voltage transrmsmon
g (B) Radio frequency’work SO

(C). Transforrner cores’
(D) Terminal blocks and ma]l panels
(E) Not attempted
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20.

21.

22.

23.

24.

e

Who ascended the throne after the
death of Babur ?

(A) Akbar

(B) Humayun

(C) Islam Shah

(D) Htamash

(E) Not attempted

In Bode plot, x-axis represents
(A) Magnitude

(B) Angular frequency

(C) Phasc angle

(D) Amplitude

(E) Not attempted

In which type of moving iron instrument
is the pointer attracted by the fixed coil
due to magnetic induction ?

(A) Attraction type
(B) Repulsion type
(C) Both (A) and (B)
(D) Neither (A) nor (B)
(E) Not attempted

Kalesar National Park is situated at
district of Haryana.

(A) Yamunanagar

(B) Kurukshetra

(C) Bhiwani

(D) None of the above

(E) Not attempted

0]

o

What determines the movement
rate of different components in
chromatography ? '
(A) Density of the stationary. phase -

SO

(B) Temperature of the mobile phase | :

(C) The interplay between ndsorptlon
and solubility T

(D) The color of the samplc

(E) Not attempted -~
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25.

26.

27.

28.

e

ister is
In a microprocessor, _—— 8!

used to store the outputs of arithmetic,

logical or 10 operations.
(A) General register E]%El
O} £

(B) Flag register

(C) Program counter
(D) Accumulator

(E) Not attempted

The temperature at which real gas
obeys ideal gas law over an appreciable
range of pressure is called

(A) Boyle temperature

(B) Charle’s temperature

(C) Critical temperature

(D) Compressibility factor

(E) Not attempted

In which type of chromatography
does a cellulose filter paper act as the
stationary phase ? o

(A) Gas Phase Chromatography
(B) Liquid-liquid Chromatography
(C) Paper Chromatography

(D) Thin Layer Chromatography
(E) Not attempted . '

What is the main; pnnc1ple behind
Nuclear Magnetic Resonance (NMR)
Spectroscopy ? '

(A) Absorption of visible light by
atomic nuclei = -

(B) Absorptlon of electromagnenc
radiation in the radio frequency
region by nuclei

(C) Absorption of X-rays by atomic

nuclei :

(D) Absorption of mfr“'"' ed radxatlon
by atomic nuclei. B

(E) Not attempted -
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35.

36.

37.

e

The Supreme Court recently has
stayed construction of four dams
inside the Haryana’s which of the
following Wildlife Sanctuary ?

(A) Chhilchhila Wildlife Sanctuary

(B) Kalesar Wildlife Sanctuary [ =
(C) Nahar Wildlife Sanctuary it
(D) None of the above

(E) Not attempted

Which smoke detector uses the light
scatter sensing principle ?

(A) Ionization smoke detector

(B) Dust particle sensor

(C) Optical smoke detector

(D) Radioactive smoke detector

(E) Not attempted

An 8 bit ADC outputs all 1’s when
V;=5.1 V. Its resolution is

(A) SmV/LSB (B) 10 mV/LSB
(C) 20 mV/LSB (D) 100 mV/LSB
(E) Not attempted

Within elastic limit, the ratio of
longitudinal stress to longitudinal

_ stram is called as

38,

(A) Hooke’s law

(B) Young s modulus
(C) Bulk modulus

(D) Modulus of rigidity
(E) Not attempted

Which among the following is a
distinctive feature of Panipat ?

' (A) Its historical battles

(B) Its handloom tradition
(C) “Its food cuisine
(D) Its dance forms . .

- (E) Not attempted
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39. Output of following circuit is 39, ﬁﬂﬁ*‘ﬁﬁ
\ :
' D | e
*DC)_( —7 X
. / (B) 0
® ®) 0 | i B x
SR

(C) X (D) X’ o
(E) Not attempted

40. What characterizes the suscept1b1hty 40. W qz'[?.ﬁ * & e 1 7
of diamagnetic materials ? o [[Um'd S )
(A) Very large and positive E¢§E (A) W 3R ST
(B) Very large and negative %&% A S AR
(C) Very small and positive - (C) Ica DI 3R AT
(D) Very small and negative (D) 3reda BT 3 RV
(E) Not attempted (E) Tt |
41. A galvanometer can be converted into | 41 T Neaiet I Siied g T
an ammeter by connecting pefier & e S el B |
(A) low resistance in parallel (A) R 8§ e wfedg
) Tt o 3T Wiy

(B) high resistance in parallel
(C) low resistance in series
(D) high resistance in series
(E) Not attempted

42. @aawﬁaawmfrg&mﬁm@

42. In the closed-loop control system,

what produces the error signal ? IEA R R ?

(A) The feedback signal alone o oR -~

(B) The controllcr : (&) . %@‘ﬁ
| (B) f=e o

(C) The reference mput

(D) The difference between the input (C) ; s
and the feedback signal B I 3R i Gha % T AW
(E) Not attempted | (E) vt ' '

43. What is another name for the Thermal | 43. Sefty ST wg=e (ICD) & ¢ TFI

Conductivity Detector (TCD) P A TRTD 2

(A) Electromete ‘B)"ff Spectrometer | B

(C) Katharometer ((D ':'.Voltameter (B) ,
SR, (€) FNftex (D) Fieerfi

(E) Not attempted (E) &

B e ‘. .. L ; -10-
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48.
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Which of the following is not a
semiconductor material ?
(A) Gallium Arsenide

(B) Silicon EE
(C) Germanium %ﬂ;,
(D) Copper Ele7ee:

(E) Not attempted

Whenever we surf the internet using
smartphones, tablets, computers, etc.,
we leave a trail of data reflecting the
activities performed by us online, which
is our

(A) history

(C) cookie

(E) Not attempted

(B) digital footprint
(D) back up

Which of the following is not a flag in
8085 ?

(A) Parity

(C) Sign

(E) Not attempted

(B) Auxiliary carry
(D) Stack

Why are analogue instruments

considered useful in some

measurement applications ?

(A) They require a constant power
supply |

(B) They do not need a power supply

(C) They are digital dcvxces

(D) They have a h1gh mput
impedance s

(E) Not attempted

Who has composed

Vayutribhuvnopdesh in Hlnd,\ ?

(A) Chaurangmath
(B) Isardas A
(C) Samrat Harshvardhan
(D) Banabhatta ‘
(E) Not attempted ‘&= o
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49.

50.

51.

52.

Simplify : (x+y).(X+y) = ?
(A) x (B) y

C) x+y (D) xy
(E) Not attempted

Following figure shows a
instrument used to measure medjym
resistance.

E
—H
(A) Ohmmeter
(B) Voltmeter
(C) Wheatstone bridge -
(D) Kelvin bridge il
(E) Not attempted

Of
DE
&=

Which method uses a platinum black
electrodeand a silver chloride electrode
to measure pH ? o

(A) Glass-Electrode Method

(B) Hydrogen- -Electrode Method

(C) Antimony-Electrode Method

(D) Quinhydron-Electrode Method

(E) Not attempted

Which amongthe following is a Folklore
Museum situated in Gurugram district
of Haryana ? -

(A) Urusvati Museum

(B) Jahaj Kothi Zonal Museum

(C) Sri Krishna Muscum
(D) Dharohar Museum
(E) Not attempted
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53.

54.

55.

56.

57.

e

Which of the following is not &
general purpose register in 8085
microprocessor ?

(B) BC

(A) AB
(C) DE (D) HL

(E) Not attempted g%,%%
ObzrH
Which of the following devices converts
mechanical position to an electric
voltage ?

(A) Generator

(C) Tachometer
(E) Not attempted

(B) Transformer
(D) Potentiometer

A random variable X’ has the following
probability distribution :

X 1 ({2|3|4]|5]|]6] 7
PX) | k-1|3k| k [3k|3K?|K*|K*+k

Then the value of k is
(B) 2

(4)

@2 e

NN e

(E) Not attempted’

What is the energy,‘required to.
magnetise a specunen in the hard

direction referred to as ?
(A) Hysteresis energy

(B) Ferromagnetic energy
(C) Domain wall energy
(D) Anisotropy energy

(E) Not attempted

Which type of feedback : 'L'WH

error between the reference mput and :

system output ?
(A) Negative feedback
(B) Pos1t1ve feedback

(D) Reverse feedback"'
(E) Not attempﬁc_d
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Bl 0 frea e # wRafia Hl 2 7
S (B) TG
(C) THifix (D) Ferremdt
(E) e
55. U wrgfemes = X’wﬁw%fﬁaamﬁm
Toraror @
X 1]2]3]4]5]6 7
P(X)|k-1|3k| k |3k |3k | K|k +k
T kT AF B
/W% (B) 2 .
© 2 o=
(E) TG

56, e g Y ) g

%mmﬁmmfwm%?
EWE.

BRIt <
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(A) THUTCH® FfrdTg
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S8.

59.

60.

61.

is when we use other
person’s work without obtaining thejr
permission to use or we have not paid
for it, if it is being sold.
(A) Plagiarism
(B) Trademark infringement
(C) Copyright infringement
(D) None of the above
(E) Not attempted

Identify the following circuit.

(A) Half wave rectifier
(B) Full wave rectifier
(C) Bridge rectifier
(D) None of these

(E) Not attempted

In the electx_‘onic' ohmmeter, which
circuit generates a constant current ?
(A) The first circuit

(B) The second circuit
(C) Both circuits

(D) None of the circuits %&frﬂﬂ

(E) Not attempted @2@%
The word is used for the
memory that exists on. d13ks Compact
disc (CD), ﬂopples or tapes e
(A) Memory

(B) Storage 5
(C) Cache memory Sl
(D) Primary memory """
(E) Not attempted LT
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62. The forward breakover voltage of an SCR | 62. W% SCR = 3y Siw dieest

t
W gocrasesas BOBE ST | ) 520 890 g e
lled by gate SArres &R fre g Frafia e A1 5w 2

B) cannot be contro ¢
C) increases as the gate C‘:Br{r;rl; (C) Tt & 98 & gr fagga 9edl @
increases E D 5
(D) none of the above % (E) I ° Y HIS G
(E) Not attempted ER: (E) 3rantea
63. Which type of NMR is based on the 63. Thg YR P NMR AR A H U
excitation of nuclei sample with Tl d R g’q’iﬁﬂ W # 33fr
radio waves into nuclear magnetiC - I @ 37 v
resonance ? "
(A) Pulsed Fourier Transform NMR 3 qgg”tﬂ( A1l NMR
Spectroscopy (FT-NMR) WRIGHA! (FT-NMR
(B) Frequency Sweep Method . (B) C‘ma[ﬁl T o
(C) Continuous Wave NMR R & 2 .
Spectroscopy (CW-NMR) -9 Ul NMR @H@@ild' (CW-NMR)
(D) Field Sweep Method (D) &% gara faf
(E) Not attempted o (E) Iy
64. In Haryana Urdu literature Ababil was | 64. ghomn | Q'QHT%RT e gra foran
written by , TR o1 | o
(A) Khwaja Ahmad Abbas (A) T =H
(B) Altaf Hussain Hali =~ ‘ (B) greil ,
(C) Naubhar Sabir - AN %?El
(D) Jaimini Sarshar (D) SfEF TR SR
(E) Not attempted (E) TETRa
65. The 2’s complement of 11001 is 65. 11001 2 TS 2
(A) 10011 (B) 00110 (A) 10011 (B) 00110 -
(C) 10101 (D) 00111 K (C) 10101 _{By00111
(E) ’

(E) Not attempted * ,
66. A null-type instrument as compared | 66. T F=er-SHR H ITH HI I s
to a deflection-type instrument has TA-T& 5 SR E3 B R |

. (A) T T Gl

(A) a lower sensitivity

(B) a faster response , (B) TF i Safsear
(C) a higher accuracy = . , Teh ITaal Getehdl
(D) all of the above . = 7o (D) 3 ot

(E) Not attempté"d,:l vvvvv G " (B)

67. IR AERAT @ a © b = a? + b2EW T
aredfas TEN 2’ 3R b’ % fae Fuifa
fRTI R, A (203) 04 =

67. If the operétf@p: @ is defined by
a®b=a?+b*for all real:numbers ‘@’
and ‘b’, then (2©.3) ®4=-

(a) 181 . (B)'182: () 181 .- (B) 182
(C) 184 .~ -~ (D) 185 1 @y 184 (D) 185
. D (E) B

(E) Not attempted /-5 i
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69.

70.

T1.

72,

e

A

What type of magnetic materinlg are
preferred for permanent maguets
(A) Soft magnetic materials with 1ow
remanence
(B) Hard magnetic materials with
high remanence
(C) Alloys with carbon
(D) Nickel-iron alloys
(E) Not attempted

O
R

What is the time response of a control

system ?

(A) The output of control system for
an input varies with respect to
frequency

(B) The output of control system for
an input varies with respect to
time

(C) The output of control system for
an input remains constant

(D) The output of control system for
an input is always zero

(E) Not attempted

An statement in Python
is used to test an expression in the
program code. ‘

(A) No execution (B) Assert

(C) Error (D) Try

(E) Not attempted

=
)

How is the conductive strip arranged

in a typical strain gauge ?

(A) Single straight-line

(B) Zig-zag pattern of parallel lines -

(C) Circular pattern

(D) Random pattern

(E) Not attempted

MOSFET stands for

(A) Metal Oxide Surface Field Effect
Transistor -

ﬂ/M'etal Oxide Semiconductor Field
Effect Transistor... ... St

A

L KRS

u

(C) Metal Oxidized Sele

Effect Transistor ~ "= 00 Y
(D) Metal Of Surface Field Effect, -

Transistor -~ - hb G
(E) Not attempted -1
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73. What is the pHof 2 neutral 8
(A) S (B) 7
€ 9 (D) 10
(E) Not attempted
74. Which among the following districts
in Haryana are part of the Bagar and
undulating sandy plains ?
(A) Karnal and Panipat
(B) Ambala and Kurukshetra
(C) Sirsa, Hisar and Bhiwani
(D) Yamunanagar and Sonipat
(E) Not attempted

75. Anopen-loop controlsystem utilizes an

actuating device to control a process

(A) without using feedback

(B) using feedback

(C) in engineering design

(D) in engineering synthesis
(E) Not attempted '

76. Which force is necessary to deflect
the pointer of an electromechanical
indicating instrument from its zero
position ? B A
(A) Controlling force - Bl
(B) Damping force - - ER

Integrating force
(D) Deflecting force
(E) Not attempted- .

77. What is the primary reason for adding
a small percentage of Cadmium to
Copper ? s
(A) To increase its conductivity
(B) To decrease its density
(C) To enhance its mechanical

strength without affecting its

conductivity e s
(D) To improve its resistance to

corrosion PR R At
(E) Not attempted ::
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(B) 3@HeA 9
© q

fCEREER|
(E) STSRITRIA i

77. <fa ¥ HehEm 1 T - Sawd

e 1 g&T T /T § ?
(A) Heh! TRl M % faw
/(Bfgwquﬁ%ﬁ—rq =
(C) ST STetehar i wfya femu fem
saeh! Fifyes wfF wom % fag
(D) SHeh HaTRor Siekierehdl sgM & fag
(E) STEMRE™
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78.

79.

80.

81.

82.

83.

is the unit \yhere all arithmetic
operations and logical functions are
performed.
(A) Storage unit
(B) Control Unit (CU)
(C) Input unit
(D) Arithmetic Logic Unit (ALU)
(E) Not attempted

measures the

resistance of a coil.
(A) Shunt type ohmmeter
(B) Voltmeter
(C) Megger
(D) None of the above
(E) Not attempted

insulation

EE
S

The section on one side of the NPN
transistor which supplies carriers and
is always forward biased
(A) Base (B) Collector
(C) Emitter (D) All'the above
(E) Not attempted .. -

refers to a device used
for conversion between analog signals

and digital bits. :
(A) Switch (B) Router
(C) Gateway (D) Modem

(E) Not attempted

In an Ex-OR gate, when any one of the
input is zero, then output

(A) Will be the inverse of second
input

(B) Will be same as the second input

(C) Always 1 ' '

(D) Always O =

(E) Not attempted .

Conductance is reciprocal of
(A) Inductance .. .. .o
(B) Semiconductanice =
(C) Resistanc ;
(E) Not attem ted -
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84. Which number will come in the PIACe | 84, e oo o H-d g Imnft ?
of question mark ? . - )
an “W &
(A) 45 B) 50
A) 45 (B) 50 (B)
(©) 60 (D) 63 T (D) 63
(E) Not attempted (E) st
Which effect shows that heat is 85'_ ﬁq-‘éﬂ e <wial & T @ B= WQ?H\T
absorbed or liberated when a current En WF{ J " ﬁgﬂ ﬂt“ﬁ S T ST
is passed through the junction of two IR e ‘é’ﬁ-ﬁ 27
different metals ? _ - | Ig F )
(A) Thomson effect EHE ®
(B) Seeback effect b ) E“é % I
(C) Fermi effect (C) wHt
(D) Peltier effect (D) ﬁf?&tma o
(E) Not attempted (E) tyntta ’

86.

87.

V (A) The part of the response that

‘to- electromagnetlc energy ?

What does the transient response of a
control system represent ?

remains constant

(B) The part of the response that
varies with respect to time until it
reaches.a steady state

(C) The response that i is independent
of time

(D) The part of the response that
remains even after the transient

_ response
(E). Not attempted

In which of the following types of
machmes, electrlc energy is converted

(A) Lamp * °
(B) Heater
(C) Telegraph.tc machme

T T yumeft < afores wfafean ==

TR 7

C(A) i w98 s S oTEd wa R

_ @] SR w9 W S wnE % w
T % IEd & 9 9 %6 98 @
o feufe % 3 wgw s

(C) =& wiafshan St gwa @ wew »

(D)uﬁmwagmsﬁaﬁmuﬁm
% arg oY sr=an B

(E) TR

frfaiaa © 9 frw wer < wefiel 3 fega

wﬁﬁﬁmﬂaﬁamﬁmm

TR ?
(A) = - |
(B) T | %l’ﬁi
(C) 2femnfres wef=

oy g

86.

87.

(E) TR
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88.

89.

90.

What is the primary characteristic of the

Alluvial Plain or the Ghaggar-Yamunga

Plain in Haryana ?

(A) It is predominantly hilly ang
rocky.

(B) It is known for its extensijve sand
dune formations.

(C) It includes fertile riverine plaing

and forms a significant socjg-
economic region.

(D) It is mostly covered by dense

forests. '
(E) Not attempted %%EJ

A
In the below figure of a Wheatstone
bridge, the current in M, reads OpA
with the standard resistor R adjusted
to 5642 Ohm. What is the value of the
unknown resistor R, ?

A 1ov+:’-_f c

Standard resistor
09999 Q (variable .
in 1-Q steps)

(A) 5642 Ohm
(B) 564.2 Ohm
(C) 56.42 Ohm
(D) 5.642 Ohm
(E) Not attempted

Noise arising in IC amplifiers is
generally described by .

(A) Single source inp}itfilipdql, T
(B) Single source output_model
(C) Two source inputimodel . -
(D) Two source outputmodelr =
(E) Not attempted .
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93.

94.

95.

e

can hold mor¢ storage
and is less

data than main memory

expensive.

(A) Primary .

(B) Sccondary storage device

(C) Register

(D) Basic Input/Output System
(BIOS)

(E) Not attempted

Which phenomenon describes_ the

production of polarisation 1n a

substance due to the application.of
mechanical stress, provided the lattice

lacks a centre of symmetry ?

(A) Electrostriction EE

(B) Superconductivity kj%f

(C) Electromagnetism = ’lﬁ% :
(D) Piezoelectricity :
(E) Not attempted

Which of the following is not a type of
filter used in spectrophotometers ?

(A) Absorption filter

(B) Interference filter
(C) Refraction filter
(D) None of the above
(E) Not attempted

How much current flows in the filament
of a 300W bulb connected to the 120V

power line ?
(A) 500 mA (B) 1A
(C) 2.5A (D) 12A

(E) Not attempted

Haryana Govt. had announced the set
up of State’s first Sports University in
this district . .

(A) Sonipat . (B). Panipat
(C) Yamunanagar (D) Panchkula
(E) Not attempted '
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96.

97.

H

98.

99.

100.

Rectifier instruments find theijr
principal application in measurement
in circuits.

(A) high-impedance

(B) low-impedance

(C) high frequency

(D) none of these

(E) Not attempted

The Boolean function Y= AB + Cp is to
be realized using only 2 input NAND
gates. The minimum number of gates
required is

(A) 2

C) 4

(E) Not attempted

(B) 3
(D) S

The State which recorded highest literacy
rate in India according to 2011 Census

(A) Karnataka (B) Uttar Pradesh
(C) Bihar (D) Kerala
7 E&El
(E) Not attempted
=

One pico Farad is equal to

(A) 102 Farad  (B) 10" Farad
(C) 102 Farad (D) 10~ Farad
(E) Not attempted i

What is the necessary condition for

Routh-Hurwitz stability ?

(A) All the elements of the first
column of the Routh array should
have the same sign

(B) The coefficients of the
characteristic polynomial should
be positive

(C) The control system is unstable * -

(D) The roots of the characteristic -
equation should have posmve
rea'l parts = ':ifi:' .

(E) Not attempted
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